
        

                    
                      

                    

𝑨 = 𝑷(𝟏 + 𝒓)𝒕                                        𝑨 = 𝑷(𝟏 − 𝒓)𝒕

 

                  
      

𝑨 = 𝑷(𝟏 +
𝒓
𝒏

)𝒏𝒕

     

Let’s Compare:               
                
     

 

       

       

       

   

  

     –    –

 

       



           

                
          

So now that we have talked about compounding money, let’s talk about real things.


                    

                    

             

 You’re shopping at Kohls and find some pants f            
      

                       
               

                        
                  

               

           
     
 
 
 
 

           
           
 
 



                  

                   

xy )4(5 xy )3(.8

        

𝐴 = 700(1.41) 𝐴 = 74(0.85)

         

                 

                    
      

                     
             

                     
                       


       

       

 𝑦 = 48(0.25)

  

   

    

   

        

 𝑦 = 7(1 + 0.02)

  

   

    

   

        


